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lbat is a set?



Set Notation i
Stockholm
University

A set IS a collection of elements.

P = {red, yellow, blue}
= {primary colors}
= {c| cis a primary color}

e

\
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The symbol @_ denotes the set with no element, aka the empty set.
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Given two sets A and B, their union is AR
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Given two sets A and B, we have that

A\B :={x|x € A AND x ¢ B}




Complementary sﬁm
University

Given a sets A (living inside a universe set U), its complementary is

A= {xeU|x¢A}
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Cartesian product
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Def: Let » be a natural number. We say that a set A has size » |
there is a bijectve function \A\ 1h
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Permutations and. combinations
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Cxample:

2. pacpe
r‘)
At a party 5 teams play a series of 1-1 games. There are two

rules

* None can play twice against the same adversary
« One cannot play against their teammates.

At the end Aragon asks how many games has everyone played
and get different answers.

How many games has Bilbo (Aragon 's team mate) has
played?






